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é 1. Borumcure:
z a) log, (9¥3);
L= B
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£ 6) Tlom2el,
2. Tocrpoiite rpaduK GyHKIAM:
a) y = log, 5x;
5
6) y =1lgx
3. Pemmure ypaBHenue: B
a) log (4x + 1) = 2 - log, (2x + 3);
6) 1g?x — 31g(10x) = 1.
4. Pemmure HepaBeHCTBO logy x < 27 — x.
5. Pemmre ypaBHenue x'n= 4 6% =42,
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é 1. Boruucaure:
H a) log, (4¥32);
— vz
- 6) 49°%3+,
2. TocTpoiite rpadpuk GyHKIUM:
a)y = log, x - 2;
i
6) y = log, Vx.
3. Pemmute ypaBHeHMe: -
a) log; (2x + 1) + log; (x — 3) = 2;
6) log? x + 4log,(2x) - 9 =0.
4. Pemmnre HepaBeHcTBO log, x > x — 8.
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5. Pemmnre ypasrenue 257 — 3xlesr = 10, -
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